Geometry Name

Notes Section 7-4

Hour Date
GOAL: Use properties of rhombuses, rectangles, and squares.
Vocabulary
Rhombus Rectangle Square
A parallelogram with four congruent | A parallelogr‘am with four A parallelogram with four
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Corollaries
Rhombus Corollary Rectangle Corollary Square Corollary

A quadrilateral is a rhombus if and | A quadrilateral is a rectangle if and | A quadrilateral is a square if and

only if it has four congruent only if it has four only if itisa
Sdes : (\SV\+ Chombu S and a
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Theorems

Rhombus Diagonals

Theorem

A parallelogram is a rhombus if and

Rectangle Diagonals
Theorem

Rhombus Opposite
Angles Theorem

A parallelogram is a rhombus if and | A parallelogram is a rectangle if

only if its diagonals are only if each and only if its diagonals are
Dexrpenaicdlar oonal Conoyyen
] | ~ <

%E
12 c

bisects a pair of opposite angles.

—

A B

0 c

rhombuses

(4 congruent sides)

parallelograms
(opposite sides are parallel)

rectangles
(4 right angles)

squares

rectangles

S

quares

grams {trapezoids]
rf;imbuses [ isosceles
trapezoids

Each shape in the diagram has all of the properties of the shapes
connected above it. As you move up the hierarchy the connected

items are always related. Example: A square is always a

parallelogram. As you move down the hierarchy the connected items

are sometimes related. Example: A quadrilateral is sometimes a
rectangle.
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Example 1:

Stodement

Given rectangle ABCD decide whether each state is always, sometimes, or never true. ,-D

a. AB=(CD @hﬂ)&;\js AE
b AB=BC  OometimeS E)j

C
Example 2:
What is the BEST name for the quadrilateral shown below? Explain.
o« _uare . hombus
dbﬁom\s \ox‘se.c, C\C O»SOV\QJ_S 9\?0\,\} og
Cach otner are Conay \»&r\[jr
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Example 3:

Sketch square ABCD. List 5 properties of the square. ]
VD 'PS . A/Po"\?\ 0_@_ C,o\/\%\(ue,f\-\—’ O’PPOSL‘\Z, gkc;eé
. QP@\F %) S— Opposl . Sides ’Poura\.\a/k
c U - U rigat angfes
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Example 4:

Name each quadrilateral-parallelogram, rectangle, rhombus, or square-for which the property is true:

a. The diagonals bisect opposite angles. S%u()\,‘re ‘( \/\()\/\(\ b\LS
J

b. The diagonals are congruent. 6%&@,"@. ) (QQ‘\‘O\J{\&\Q

c. Opposite sides are congruent. /PC[ ‘(\(‘A/\l \,Q/\O %(U«m ) FQCA-O\M\Q
Chomlbus | SPuare

Example 5:
Given WXYZ is a rhombus. If m/ X = 24(10 - r)° and m£Z = 6(r + 15)°, find m2 V. W\ L%: (o(&&
Wi X A4 Uio-r)= blrtrs) - 190
A4D-ad = br+A0 A0

Example 6 U = DO +A0 \mL\ﬁzl%D-
1 N 190 =30r =5 9(00

In rectangle ABCD, AC= 7X — 15 and BD = 2X + 25. Find the lengths of the diagonals of ABCD.

AC=DP AC =7 (R 15
=15 = I +AS =Sb— 15

Syv—]15<dd = 4

Example 7: 6 L‘kO Y= % /ED»D at%3 %’;b .

= o +as5 4P
Determine whether Z7 ABCD with vertices A(- 2, 3), B(2, 2), C(1, - 2) and D(- 3,-1)isa

rectangle, a rhombus, or a square. Give all names that apply. y

’;\I\C/Slafe,@'p'p(jb g_i < . G%C:D has 4 \’IESV\,-\—- L's ~

ABCD is oo (‘ec-\—o.\n@\e D2 )

“The Slege o© B S % 2) o #32]
e Stoge o £TDT - 2-lo1) _ -
“he Sloge 0+ C Sy S _Jr_ // , /
3 D: — (= = - N\ X
“he Slape o8 HT?(\ 4 ] uE i/ s

<

P\M’bc %C.LCD> CPLADY ABLAD

Homework: Day 1 p. 393 # 1- 39 Odd
Day 2 p. 394 # 41-77 Odd, 85, 87
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